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ENGLISH VERSION

1  Attempt any one in 1000 words : 14

(1) What is automation ? Explain the objectives and merits of
library automation.

OR
(2) Discuss effects of automation on information and knowledge
sector.
2  Attempt any one in 1000 words : 14
(1) Explain the plan to automate a small library.
OR

(2) Explain a plan to automate a university library.

3 Attempt any one in 1000 words : 14
(1) Explain automation of issue-return section.
OR
(2) Explain automation of acquisition section.

4  Attempt any two short notes : 14
(1) What is library network ? Describe its services.
(2) Give names of search engines and explain any two in short.

(3) What is network topology ? Which topology is suitable for
LAN ?

(4) Explain the concept of E.S. in reference of libraries.

5  Attempt following questions in one or two lines : 14
(1) Mention the uses of RFID.
(2) What is wireless network ?
(3) What is internet security ?
(4) Name four information sources available on internet.
(5) Name any four library software.
(6) Mention the salient features of SOUL software.
(7) What is firewall ?
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